“ 0502202
: MuuiE[lcahon :
: WALT: solve mulhpllcahon worded Problems. :
© OneSlor
: | There are & biscuits in a Packef A shop orders |56 Packeks. How many biscuits will be in :
the 156 packels?
156 x4 =
: There will be _______ biscuits in the Packeks. :
: 2. I lakes 6 minules to make a kOH car. How many minubes will it lake to make 205 kog cars? :
205 x 6 =
: H wiu take ______ minules ko ma|<e 205 koH cars. :
: 3 Eggs are sold in boxes of 6. Last wee|<, o farmer sold 372 boxes Of €9gs. How many eqgs :
did the parmer sell lask week?
370 6 =
: The farmer sold ______ eqgs last week :
N Two Slars N
: 4. A machine ma|<es 8 dice in a minule. A working dO’U is 264 minutes. How many dice are :
: made in 264 minules? :

5. IA\ fOOH)O,H c[ub hOS an o,vero,ge aHendance Of 85q PGOP[G kO each makch. What is H’Le ITOITO[

Ye attendance for T makches? Ye
: 6. A cinema has 9 screens. Each screen has 765 seals. How many seaks are there in the :
: cinema? :
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Three SI'OFS

Ina shop there are 68 jors of sweels. Each jor contains [487 sweeks. In lolal, how many
sweels are in the shop?

In the libro,rl:j there are 42 shelves. In each sheljt there are 1245 books. How many books
are there o,ltogeHwer?

There are 64 boxes of Penclls in the school Office. Each box conlains 3425 Pencils. How

manH Pencils are H‘»ere auogeH‘»er?



